A ST
U ot HTIIB RE(SSEMYLHE/THE I - 212 91)
el BTHE® oizrsl (= RED
SN - SRABH) - MRAY - BES 0] &k o4 p[E-LD HmE=ET
24T 1t 72,672,491 72,550,370 122,121
= 48,256,000 48,182,000 74,000
= 60,000 0 60,000
N 223,000 223,000 0
= 24,133,491 24,145,370 A11,879
OrM G YOI RH(SSEMUCHM /T - 21eke) 62,516,115 62,382,115 134,000
= 48,256,000 48,182,000 74,000
£ 60,000 0 60,000
EN 223,000 223,000 0
o= 13,977,115 13,977,115 0
SHE R A2t 223,115 163,115 60,000
= 11,000 11,000 0
S 60,000 0 60,000
= 152,115 152,115 0
Mtz EEXA(=1) 60,000 0 60,000
= 60,000 0 60,000
201 2 EH2HH| 60,000 0 60,000
£ 60,000 0 60,000
01 At 22|l 60,000 0 60,000
o=gzeltid =& 60,000 0 60,000
S 60,000 0 60,000
Mol ALM Bl =& 23t 62,293,000 62,219,000 74,000
= 48,245,000 48,171,000 74,000
e 223,000 223,000 0
= 13,825,000 13,825,000 0
8.26~9.1 SRLZSY IS E(MHHXEAS2)(21) 74,000 0 74,000
= 74,000 0 74,000
403 UHXISHHSAHE01 A 74,000 0 74,000
= 74,000 0 74,000
01 AXISHMA=2E L 74,000 0 74,000
08.26~9.1 s - 43 - & Il =+ 74,000 0 74,000
= 74,000 0 74,000
HEES (L) (SSEMUHE/THHET - 2lgtel) 10,120,266 10,132,145 A11,879
LHEHH K& 10,117,959 10, 131,000 A 13,041
Mol E X2 U (KSEIHEII2) 4,546,959 4,560,000 A 13,041
705 =3 RcISatE 4,546,959 4,560,000 A 13,041
04 Al - SXSINLDI 20301 KtatEt 146,959 160,000 A 13,041
©'09¢ THolRIE X+ ZHl 146,959 160,000 213,041
RSN 2,307 1,145 1,162
LT, el 2 2NEXs Bte 2,307 1,145 1,162
802 Btet= DI Ef 2,307 1,145 1,162
01 =2EXSEE3 2,307 1,145 1,162
©'154@ TH:OIGHA Aeletd XI& 253 0 253
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